Run 5200, integration on 12 samples

HG pedestal [ADC] LG pedestal [ADC]
1.5 1.5
0
930" 0 P Ry
i ° i ®
10 .*.f * r. d _1 10 , & ’. ® L. y. _1
re B ed oY nE 'tt
’.o(o . T e LR b4 “'“o }b.
} ® ’. ¢ } .1. ® " g @ ® & e®
0.5 &*F’.o-'i\'_t. <3 =2 0.5 :_,’:;_;.} y :*,‘: \5 F—2
. ve FX® "
. f Y - 0:‘%{:.0(’. 3 0 .N«.. K o 1
£ o f‘&: N £ Ry L g PV o -3
< 0.0 ’." ve L § P ho‘ — 0.0 01"; 'S ] Py
 ? . . e® _ % . ¢ s A
> d g . r 4 > ( ® o v o ¥
* rb MG R x‘ :f X S -4
pot SO QAL . s Y A3We
—-0.5{ ¢ .#: ..}...‘ ..o. ‘? -—5 —0.51 .n“'..ob} ' d ; ‘&’
b RV A O RN s
T T ~6 " o
la 8 m L 1 FISUY ¢ ’ﬁ o . &
—~1.01 e L3¢ 3, &, —1.0- o"ol: 2
e N _7 v -6
—1.51 | | EngilneeringCIameraFrlame _8 —1.51 | | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0 -1.0 -0.5 0.0 0.5 1.0
X (m) X (m)
HG pedestal std [ADC] LG pedestal std [ADC]
1.5
44 >
37
1.0 ‘wh o2 o:.o
] 9 1.0- [
ORI Y ’?’f{'i.w 36
® r42 o’ ¢ ® ® Cee
oo ® .o. » . :f%‘
0.59 = 3 3 - R 0.5 1 5 ..%.'o..’fo”o
® ] @ o L} } %0 . ‘35
. ... o® .f - .’.$$3.$. .i. O’. R
S ® : o ® 40 £ i../ .:‘o’ .f.. .1.
< 0.0 >, . . — 0.01 Wl * "W,
> ® o" :. > ° tb‘&’.... °t’ 3 - 34
® ® S
P @ g o.{ " h:.
g o ® 4 i [ &9 Fo b LR R
—0.51 e . L 38 —0.5 .1 P! ." ( 3 .:}‘% 33
s SR, Y ! P h 8 .}’
se? P .‘ Rery ‘% Yo t’
¢ e @ ® Re ® [ ]
~1.01 s T X —1.01 32
36 °
| | EngilneeringCIameraFrelame —1.51 . . EngilneeringCIameraFlrame 31
-1.0 -0.5 0.0 0.5 1.0 -1.0 -0.5 0.0 0.5 1.0
X (m) X (m)
BN HG Median -6.97, std 2.27 120+ Bl Median 39.70, std 1.31
100 A
100 A
80 -
80 1
(2] wn
g 60 9
a 3 001
40 -
40 -
20 1 20 -
0- 0-
-15.0 -12.5 -10.0 -7.5 -5.0 -2.5 0.0 36 38 40 42 44
HG pedestal HG pedestal std
B LG Median -6.65, std 2.13 Bl Median 34.28, std 1.67
100 A
80 1
n 0
X 2 999
o o
40 A
20 -
O_
-12 -10 -8 —6 -4 —2 28 30 32 34 36 38 40

LG pedestal LG pedestal std




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 5200, pixel 0

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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—— event 1001, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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Run 5200, pixel 0

—— event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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